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	2018 April New Cisco 400-151 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 400-151 Real

Exam Questions:1.|2018 Latest Cisco 400-151 Exam Dumps (PDF & VCE) 613Q

Download:https://www.braindump2go.com/400-151.html2.|2018 Latest Cisco 400-151 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNOUtSMndmVjV3czA?usp=sharingQUESTION 225Which two

statements about OpenStack are true? (Choose 2)A.    Horizon is the component that is used for IP address management.B.    Nova is

the compute component that is used to manage and automate the provisioning of compute resources.C.    Keystone is the networking

component that is used to create and manage network resources.D.    Neutron is the networking component that is used to create and

manage network resources.E.    Trove is the GUI web application that is used to control and configure different 0penStack

components.Answer: DEQUESTION 226Which three options are valid sources for Cisco UCS monitor sessions? (Choose 3)A.   

VHBAB.    uplink FC interfaceC.    VLAND.    vNICE.    VSANF.    pin groupAnswer: ABEQUESTION 227Which two actions

are used by the OT/join interface on an edge device? (Choose 2)A.    Join the overlay network and discover the other remote OT/

edge devices.B.    Form OTV adjacencies with the other OTV edge devices that belong to the same VPNC.    Send/receive only

multicast traffic.D.    Forward Layer 2 frame destined for a remote site an overlay interface.E.    Only receive MAC reachability

information.Answer: ABQUESTION 228Where are domains placed when they are initially registered with Cisco UCS Central?A.   

acknowledged domainsB.    ungrouped domainsC.    registered domainsD.    discovered domainsAnswer: BQUESTION 229Refer to

the exhibit. Which two optionscan be determined by the Cisco UCS environment ? (Choose 2) A.    Three FCoE attached servers are

on the Fl.B.    Seven FCoE attached servers are on the Fl.C.    The Cisco UCS is in end-host mode.D.    The Cisco UCS is in FC

switch modeE.    Five FCoE attached servers are on the Fl.Answer: CEQUESTION 230Refer to the exhibit. Which two

characteristics can you tell about the device connected on el/1 from the output from the Cisco UCS CLI? (Choose 2) A.    The device

is a B-Series server.B.    This device supports PoE.C.    This device supports FCoE.D.    The device is a C-Series server.E.    The

device supports Ethernet only.Answer: ACQUESTION 231Which two options are valid span confiuguration for a Cisco Nexus

1000 series Swithc? (Choose two)A.    switch# configure terminalswitch(config)# monitor session # ?switch(config-monitor)#

source interface ethernet 2/1-3switch(config-monitor)# vlan 3, 6-8 txswitch(config-monitor)# filter vlan 3-5,7

switch(config-monitor)# destination interface eth 2/5B.    switch# configure terminalswitch(config)# monitor session # ?

switch(config-monitor)# source interface ethernet 2/1-3switch(config-monitor)# vlan 3, 6-8 txswitch(config-monitor)# filter vlan

3-5,7switch(config-monitor)# destination interface eth 3/5C.    switch# configure terminalswitch(config)# monitor session # ?

switch(config-monitor)# source interface ethernet 3/1-3switch(config-monitor)# vlan 3, 6-8 txswitch(config-monitor)# filter vlan

3-5,7switch(config-monitor)# destination interface eth 2/5D.    switch# configure terminalswitch(config)# monitor session # ?

switch(config-monitor)# source interface ethernet 3/1switch(config-monitor)# vlan 3, 6-8 txswitch(config-monitor)# filter vlan 3-5,7

switch(config-monitor)# destination interface eth 3/2E.    switch# configure terminalswitch(config)# monitor session # ?

switch(config-monitor)# source interface ethernet 2/1-4switch(config-monitor)# vlan 3, 6-8 txswitch(config-monitor)# filter vlan

3-5,7switch(config-monitor)# destination interface eth 2/2Answer: ACQUESTION 232Refer to the exhibit. Which command on a

Cisco UCS provides this output? A.    show npv infoB.    show npv external-Interface-usageC.    show npv statusD.    show npv

traffic-mapAnswer: CQUESTION 233Which three LSA types are valid for OSPFv2? (Choose 3)A.    Opaque LSA: an LSA used to

extend OSPF.B.    Default LSA: an LSA generated by the ASBR. These LSAs are used to propagate default route into OSPF.C.   

Backbone Summary: an LSA sent by the backbone router to all the OSPF areas.D.    Network LSA: an LSA sent by the DR. This

LSA lists all routers in the multi-access network.E.    AS Internal LSA: an LSA generated by the ASBR. AS Internal LSAs are

flooded only within the autonomous system.F.    Router LSA: an LSA sent by every router. This LSA includes the state and the cost

of all links and a list of all OSPFv2 neighbors on the link.G.    DR Summary LSA: an LSA sent by the DR router to all the other

routers on network.Answer: ADFQUESTION 234Which routing protocol is implemented between leaf and spine switches to

propagate external routes within the ACI fabric?A.    static routesB.    Border Gateway ProtocolC.    Intermediate

System--to-Intermediate SystemD.    Open Shortest Path FirstE.    Multiprotocol Border Gateway ProtocolAnswer: EQUESTION

235Which three prerequisites must be created to enable Cisco UCS authentications via LDAP? (Choose 3)A.    LDAP provider

groupB.    remotely authenticated userC.    LDAP providerD.    authentication domainE.    LDAP group mapF.    LDAP server
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